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Monday 3/5/04
  





Friday 7/5/04
1st   Hans/Jeff
58%



1st   Dave/Bob
58%

2nd  Chuck/Ian
57%




2nd  Clive/Jim
57%

So, the individual who caused millions of dollars of damage with his internet worm was an 18 year old German. Guess they’ll give him a slap on the wrist? Since he caused computers in hospitals, police stations, fire stations, even the pentagon etc to shut down then the very minimum is that he should be charged with multiple counts of manslaughter etc. Life in prison is too good for him. That’s the only way to deter these cybernet hooligans, agreed? Even if the authorities are too lenient, I guess he’ll be slapped with a few million dollar law-suits?

Bidding Quiz
               
Standard American is assumed unless otherwise stated.
Hand A
Hand B
With Hand A partner opens 1(, (a) what is your bid? 


(b) Suppose you choose 1(, then what after he rebids 1NT?

( Q9842
( AKQ7
(c) And what would you respond if partner had opened 1NT?

( A1032
( 9




( K43
( K8763
With Hand B you open 1( and partner responds 1(.


( 10
( 1092 
Absolutely fabulous, but what is your rebid?


Hand C
Hand D 
With Hand C you open 1( and partner responds 1(.


Absolutely fabulous, but what is your rebid?

( AQ106 
( A65


( K2 
( J986


( KQ10643
( AQJ
(a) What do you open with Hand D




( 5
( K93
(b) and what would you open if you play a weak NT?


Hand E
Hand F
With hand E partner opens 1(, you respond 1( and


partner bids 4(. Absolutely fabulous, but do you do?

( KJ952
( K6

( A10
( 8753

( 98
( KQJ
With hand F RHO opens 1(, what do you do?

( AJ32
( KQJ9

Hand G
Hand H
What do you open with Hand G?

( 96
( K95
With Hand H you are playing Acol and partner opens 1(.

( AKQ8
( AJ84
(a)
Do you respond 1NT or 2(? 

( 764
( 752
(b)
Suppose that you bid 2(. Partner then invites with 3(,

( AK75
( 1075
what do you do now?

Hand J
Hand K
With Hand J you open 1( and partner responds 1(, what


is your rebid?

( 982
( Q10754



( A 
( 432
With Hand K RHO opens 1(, you pass and LHO bids 1NT.

( AKQJ85
( 963
Your partner doubles (for take-out of (’s). What do you do?

( A102
( 104

Nobody finds the 4-4 fit

Board 26 from Monday 3rd, both vul

North (A)
South (D) 

West
North

East
South
( Q9842
( A65

-  


-


pass
1(
 (1)

( A1032
( J986


pass

1( 
(2)
pass


1NT (3)

( K43
( AQJ


pass

3NT
(4)
all pass



( 10
( K93


3NT is obviously a very poor contract. 4( is better but 4( is clearly even better. Yet, despite what I say every week, not one of the 4 pairs found the ( fit on Monday! – the other three pairs all played in an equally poor 4( contract. Let’s look at this table: -

(1)
N-S play a weak NT and 5 card majors and so South opened 1( with a view to rebidding 1NT (15-16). Now I have given my view on the correct opening when 3-3 in the minors – open 1( rather than 1(. Anyway, that’s my advice and some choose to ignore it, fine. But let’s look closer at this South hand. How many points is it? 15? I don’t think so.        It is totally flat (so deduct one point); the only ‘suit’ is jack high; AQJ in a 3 card suit is not worth 7 points. I would open with a weak NT.

(2)
Anyway, what did you answer to question A(a) this week? The answer is that with 5 (’s and 4 (’s you respond 1(.

(3)
1NT (15-16 playing a weak NT) is correct here. You cannot reverse into 2( with this shape; for one thing, the reverse guarantees 5 (’s.

(4)
And what was your answer to question A(b) this week? If playing Standard American, partner’s 1NT rebid is 12-14. You are not interested in game and the correct bid is 2(. This is weak and partner should pass or correct to 2(. The same philosophy is true when you play a weak NT, but now partner’s 1NT rebid is 15-16 and so this North hand is good enough to force to game. If you play Checkback or New Minor Forcing then an artificial 2( is correct. If you play natural methods then jump to 3(, forcing.

Now I said that everybody missed the 4( game on Monday. So how should the bidding go if South opens 1NT (15-17)? Assuming that North has game forcing values (I think he has opposite a strong NT) there are at least two sensible options: -

Option 1
Option 2
North
South 


North
South


-
1NT
 


-
1NT

2( 
2(




2(



2(
4(
pass




3(



4(
Either option works well with this hand and the 4( contract easily reached. So which method is best? Actually I prefer to use Stayman and reserve a transfer sequences for 5-5 hands. But there is a problem or two. If you use Stayman and partner bids 2(, then what do you do? And how do you show an invitational hand 5-4 or 4-5 in the majors? It gets a bit involved, but there is a solution (it is not Smolen). Have a word with me if you want to know the answer.

And what happened? The 4( contract was 2 down and 3NT was 1 down. 4( was not bid but is a dodgy contract. I guess it just confirms that this South hand is not worth a strong NT opener and should open a weak 1NT if that’s what you play?

So, finally, let’s see how the hand should really be bid if you accept my appraisal of the South hand as not being worth 15 points: -

Playing a weak NT
Playing a strong NT
North
South 


North
South



-
1NT
 


-
1(
2( 
2(




1(



1NT

pass





2(



pass

Easy, eh? Funny how everybody was in a hopeless game and nobody even found the ( fit! When will people realise that I am right about deducting a point for 4333 type shape? And that I am equally right in saying to look for the golden 4-4 fit? Maybe after a year or two or  …... ?

That 3NT rebid yet, yet, again    
Board 22 from Monday 3rd, E-W vul

West 
East 

Table A

West
North

East (J)

South
( K73
( 982


-


-


1(


pass

( K653
( A 



1(


pass

3(
(1)
pass


( 72
( AKQJ85



3NT
 (2)

pass

pass


pass


( J754
( A102

Table B




Table C

West
North
East
South
West
North

East


South
-
-

1(
pass

-


-


1(


pass

1(
pass

3(  (1)
pass


1(


pass

2NT
 (1)
pass


pass (2)
pass




3NT

pass

The first two bids are obvious, but I don’t like the subsequent sequences at any of the tables!

Table A:
3( is not forcing. I’ve been over this a number of times; with a good minor suit,



 think NT! The correct bid at (1) is 3NT. Lucky that West had enough for 3NT at (2).

Table B:
Now this East got it partially right. He realised that his hand was worth game but for some reason decided to pull out the 3( card. Very occasionally it may be correct to ‘dig up a forcing minor’, but that is when you have bid a major suit.   As I said, 3NT is correct here.



And what can we say about West’s pass at (2) of his partner’s game forcing bid? 


I guess that if you have absolutely no confidence in partner there is a case for it, but I would bid 3NT anyway. If partner really has no clue, then at least the correct man is declarer? It’s an established Hideous Hog tactic – bid 3NT.

Table C:
The 2NT rebid at (1) is 18-19 points. But as I have said before, with a long solid suit bid 3NT. This hand has 8 tricks and you need virtually nothing from partner to make 3NT. If you think that (AKQJ in a 4 card suit is worth 10 points and (AKQJxx is also 10 points then you need to go back to school. Points smoints.

And what happened? 3NT made or made +1. 3( did not fare well (it went down) and at the 4th table 3( at (1) was passed out!

The bottom lines. Re-read the numerous news-sheets where I have explained the 3NT rebid. Do not make a non-forcing (2NT or 3() rebid if you have 8 tricks in your hand! Do not bid a silly 3( with a 3 card suit if 3NT is where you want to play. 

No Sensible bid? – part 1
Board 12 from Monday 3rd
Dealer:
( 8
West

North      
East (F) 
South

South
( KQ94

N-S vul
( A10962
pass

1(

dbl 
(1)
1(



( A32
pass
1NT

dbl
(2)   
pass



2(  (3)
pass
pass

pass  (4)


( J10752
N

( K6
    

( J6

  W    E
( 8753





( 7543
S

( KQJ



( 65



( KQJ9



( AQ942



        

( A102



( 8



West has no sensible bid at (3),


( 10874


what was the cause of his dilemma?

So what did you bid with Hand F at (1) in this week’s quiz? A double of 1( is a very poor bid with such pathetic majors. Pass or 1NT are the only sensible bids. Everything worked out OK however up until East’s double at (2). This was apparently for penalties and should show a hand that was too strong to overcall 1NT directly, so 19+. Quite why East thought that he could set 1NT is beyond me (it made plus two when bid a two other tables). Many would play that a double at (2) shows an enormous red two-suiter; clearly this hand qualifies for neither. Anyway, West is in a real spot at (3) as his only two suits have been bid by the opposition. He knew his partner and correctly thought that East did not have his bid. Eventually he decided upon 2( and luckily his partner finally realised that he had a pass card in his bidding box. Quite why South did not double at (4) is a mystery, perhaps he is not used to bidding like this and thought that East actually had a decent hand? 2( by West went two down.



No Sensible bid? – part 2

Board 3 from Monday 3rd, E-W vul

West  
East

West
North

East
South 


( QJ85
( 96

-

-


-
pass

( -
( AKQ8

 
pass

pass

1(
(1)

pass

( AJ832
( 764
 

1(
 (2)
pass

1(
(3)
pass

( 10943
( AK75
1(
 (4)
pass
1NT
(5)
pass


2(
 (6)
pass
3NT
(7)
all pass

East has no sensible bid at (5), what was the cause of his dilemma?

So what would you opem with this East hand? This auction got messy because East failed to open 1NT. 1( at (2) is fairly obvious although a few players will bid a 4 card major in preference to a ( suit with a weak hand. That is ‘Walsh’ and is best left to experienced pairs who know the treatment. Standard is to bid up the line, so 1( is fine (and is what most players at the club would bid – I asked). 1( at (3) is obvious as is 1( at (4). This is the 4th suit but is best played as natural in this one sequence (so a jump to 2( would be 4th suit forcing). Anyway, what does East bid now at (5)? 1NT shows 12-14 (just the same as if it had gone 1( - 1() and 2NT shows 18-19. That’s why you have to open 1NT. Anyway, East decided on 1NT and luckily West had the shape to pull it to 2(. 3NT at (7) was silly of course but luckily partner had a decent hand and it made +1.

And how should the bidding go?   How about: 1NT - 2( - 2( - 2NT - 3NT.   Simple, eh?
When I asked at the club I could not find a single person who would open the East hand with 1NT, they all said that they would not open with 1NT with two weak suits. Only one of them even thought about the impossible rebid problem – he said that he would reverse into 2( over a 1( response but agreed that he was fixed over 1(. 

For me it’s easy – with a balanced hand in the middle of your 1NT opening range – open 1NT.

5-3 fit or NT?

Board 6 from Friday 7th, E-W vul

North  (H)  
South

West
North

East
South 


( K95
( Q8642

-

-


pass
1(
( AJ84
( Q6

 
pass

2(
(1)
pass


3(
(2)

( 752
( AK9
 

pass
3NT
(3)
pass

pass
(4)

( 1075
( AK9
pass


4( went 3 down and 2( just made at other tables and I was asked how 3NT was reached. Playing 5 card majors 2( is obvious at (1). This N-S pair were playing 4 card majors and it’s not so obvious, either 2( or 1NT could work out best. This is just one reason why I don’t like 4 card majors. Anyway, I was North and decided upon 2(.
South’s 3( is invitational, and since we are playing 4 card majors it promises a 5 card suit. So what did you bid with Hand H at (3) in this week’s quiz? I asked around on Friday and got answers of pass, 4( and 4(.

So pass? A totally flat hand with no ruffing potential, so certainly a sound option.

And 4(? It is often best to introduce a 4 card ( suit when you know of a 5-3 ( fit just in case there is a superior 4-4 ( fit. But in this auction it is South who would have introduced a 4 card ( suit at (2) if she had one. So 4( at (3) is unnecessary.

And 4(? Reasonable, and the best contract if partner has 6 (’s or good (’s. But does she?

I bid 3NT. This shows that the original support was just 3 card and offers partner the choice of contract. It also implies 3433, 3343 or 3334  shape as with ruffing potential the 5-3 fit is usually best. Some members said that they did not like the bid with two weak suits. I think that with this North hand it looks like 9 tricks will be easier than 10. Partner has promised around 17-18 points and will likely have both minors stopped.

With weak (’s and oodles of points outside, South was happy to pass 3NT at (4).

And what happened? 3NT was the best contract and made +1.

A splinter anyone?

Board 17 from Monday 3rd, love all

West (E) 
East (C)

West
North

East
South 


( KJ952
( AQ106

-

pass


1(
pass

( A10
( K2


1( 

pass

4(
(1)

pass

( 98
( KQ10643

 
pass
(2)
pass

( AJ32
( 5


 This was one auction that I witnessed, a good slam was missed. Some might say that this East hand is not worth game and that 3( is sufficient. And me?          

I think it is worth game but that a 4( splinter at (1) is the bid (much more descriptive than 4(). But should West bid on over partner’s 4( bid in this auction? The 4( bid at (1) usually shows about 18-19 points and 4 card support; with a decent 13 points, good intermediates, two aces and, most importantly, a respectable 5 card ( suit, I would investigate slam.
My opinion? If it’s worth anything (my opinion, that is): -

(1)
I would splinter with 4( at (1) and 

(2)
In this actual auction I would bid 5( (cue bid, looking for slam) at (2). Partner has said that he is prepared to play in 4( opposite a minimal response – say a 6 count with a 4 card ( suit. This West hand is certainly more than that (!!) and is most definitely worth a slam try. Take away the two aces and this hand should still respond 1(. Pass here is a very poor bid.
And what happened? 6( was cold. Just one pair bid it but I don’t know their auction.

Worth a jump raise?

Board 4 from Monday 3rd, both vul

West  (B)
East 

West
North

East
South 


( AKQ7
( 10854

1(

pass


1(
pass

( 9
( Q74


3( 
(1)
pass

4(


pass

( K8763
( A4


pass

pass



( 1092
( A763


This was the bidding at two tables on Monday, the game went one down on both occasions. Anything wrong with the bidding?

Yes. This West hand is not worth a jump raise. 12 points, so a simple raise. Now you will read in some books to add on for shortage (some say 1 for a doubleton, 3! for a singleton and 5!! for a void). Sometimes this works, but it is optimistic, especially if partner has strength in your short suit. If this west hand had about 3 or 4 more points then a splinter (3() would be in order, but with this minimal hand 2( is just fine. My opinion is that you should only add on oodles for a shortage if you know that it is useful. If opponents have bid the suit it usually is. Otherwise splinter with game values and let partner judge whether to push on.

Bid a 3 card suit when partner doubles for take-out? – part 1
Board 9 from Friday 7th 

Dealer:
( AK832
West

North      
East (K) 
 South

North
( 106

E-W vul
( K7
-

1(

pass

1NT



( AQJ5
dbl
(1)
pass

2(
(2)   
pass



3(

dbl
all pass




( 6
N

( Q10754
    

( AKQ87
  W    E
( 432





( AQ108
S

( 963



( 976



( 104



( J9



        

( J95



( J542






( K832




3( was too high, going down vulnerable so 200 away when other N-S’s were playing peacefully in part-scores. Anyone to blame?

The first two bids were obvious, so what about West’s double at (1)? I guess that many would, but I prefer to overcall with a good 5 card major and I would bid 2(. And East’s 2( bid at (2)? A 5 card suit so bid it? Unfortunately you cannot! East is in a bit of a spot after partner’s double as his only suit is the opponent’s. In these situations when you have insufficient values for 1NT (6-9 points) you simply have to bid a 3 card suit; 2( is correct. The 5-3 ( fit is superior of course, especially at pairs scoring, that’s just one reason why I would overcall 2( at (1).

Bid a 3 card suit when partner doubles for take-out? – part 2
Board 13 from Friday 7th 

Dealer:
( AQJ932
West

North      
East 

South

North
( 62

both vul
( 3
-

1( 
(1)
dbl  (2)
1NT



( Q763
2(
(3)
pass

4(

all pass


( 1076
N

( 84
    

( 985

  W    E
( AKQ4





( AJ965
S

( Q8


( J2



( AK1094



( K5



        

( J1073


( K10742





( 85




4( is actually a reasonable contract, but the bidding was not. 

N-S were playing strong twos and so North, unable to open a weak 2(, elected to open with 1( at (1). East has a strong hand and dbl at (2) is fine. Exactly why West chose to bid a 3 card suit headed by the 9 at (3) will remain a mystery. Either pass or 2( are the sensible bids. Perhaps he wanted to demonstrate his prowess as declarer? East’s raise to 4( opposite a free bid is obvious.

Anyway, it should have turned out very well; North did not fancy a ( lead from the AQ and so chose his singleton (3, to ( Q, K and A. West then decided to lead the (J and let it run; perhaps dubious in light of South’s 1NT bid? Anyway, it held and a 2nd ( to the (9 also held. 


This is the position after trick 3.

( 1076
N
( 84
    

( 985
  W    E
( AKQ4

The lead is in dummy (East).



( J965
S
( 8

E-W have 3 tricks in the bag,

( -


( AK10


how do you continue?

Things have gone remarkably well for declarer; the ( suit is set up and he has not been forced with (’s. All he has to do now is lead 3 rounds of trumps and then play (’s, 10 tricks are easy provided that trumps are no worse than 4-2. If trumps split 3-3 then there are even 12 tricks if you read the (3 lead as a singleton or doubleton (what else can it realistically be after South turned up with the king?), but no need to be greedy when game is safe (+1 if trumps split). Instead of counting his tricks, West decided to lead (8 from dummy at trick 4 and go two down. Majestically converting 10 tricks into 8 and a clear top into a clear bottom as nobody else was in game.

Moysian fits (4-3) can be tricky for the inexperienced player; you can normally only afford to ruff in the short hand. Also, if the trumps are divided 4-2 (most likely), then it’s often best to draw just 3 rounds and then run side suit winners.

The bottom lines? Don’t bid a 3 card suit if you have a sensible alternative (a lower ranking 5 card suit is certainly an alternative!). Count your tricks. 

Bidding Quiz Answers

Hand A:
(a)
bid 1( over partner’s opening 1(
(b)
then if he rebids 1NT (12-14) bid 2(. This is a weak bid, showing 5 (’s and   4 (’s. Partner should pass or correct to 2(.

(c)
This hand is game forcing opposite a 15-17 1NT opener. It’s up to you how you deal with these 5-4 in the major hands. One popular method is to bid Stayman and then jump to 3 of your longer major if partner responds 2(. Another method is to transfer into the 5 carder and then rebid the 4 carder. Neither is totally satisfactory and I have an intermediate/advanced book covering this topic if you want to borrow it.

Hand B:
2(. You like partner’s bid but you still only have 12 points. Your ( shortage may or may not be of significance. You certainly are not strong enough for a forcing 3( splinter. You are also not strong enough for an invitational 3(.

Hand C:
4(. This hand is far better than Hand B. A pessimistic 3( or a more sensible 4( are alternatives, but I like the 4( splinter. Game forcing and shortage in (’s.

Hand D:
(a)
1(. The hand is not worth 15 points and in my opinion is not worthy of a 1NT opener. And I always open 1( in preference to 1( when 3-3 in the minors.



(b)
1NT. It’s not worth 15 points, so a weak 1NT (12-14), simple.


Hand E:
5( or perhaps 4NT. Look for slam. Partner’s 4( bid is strong, usually around 18 points (or a bit less with distribution). So 4NT (Blackwood) is reasonable, but I prefer a 5( cuebid as bidding Blackwood with a weak doubleton is not recommended. Pass, with this monster containing a 5 card trump suit and two aces is pathetic, but was the bid chosen by an experienced player on Monday.

Hand F:
1NT (15-18) or pass. It is borderline if this hand is good enough for a 1NT overcall and many would pass. I would bid 1NT but not argue with pass, but do not double. With just two (’s and 4 miserable (’s, double is a terrible bid.

Hand G:
1NT. A balanced 16 count. If you open 1( and partner rebids 1( (or if it goes    1( - 1( - 1( - 1() then you have no rebid as 1NT shows 12-14 points and 2NT shows 18-19. Now one or two (?) of the clubs top players may disagree, but what is the rebid over partner’s 1( if you open 1(. Lying by two points with a 1NT or 2NT rebid is not an option for me and you have no 5 card suit to rebid.

Hand H:
(a)
Either 1NT or 2( could work out best. That’s why I prefer to play 5 card majors

(b)
It’s close between passing and bidding game. Partner’s 3( bid only shows 5 (’s playing Acol and the fact that she did not make a help-suit game try implies poor trumps with no particular weakness in any outside suit. The game try should be around 17-18 points and I believe that 3NT is a better bid than 4( with this flat hand. Some may (did) say that they don’t like it with 2 weak suits, but with around 17-18 points partner probably has them covered. With an unsuitable hand partner will always correct to 4(. 

Hand J:
3NT. A good hand with a good long suit.

Hand K:
2( or 2(. Horrible I know, but these are the only other alternative. I prefer 2( as this is less likely to get partner excited. You cannot pass or bid 2(. When your only suit are the enemy’s you sometimes have to bid a 3 card suit in response to partner’s take-out double.
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